Tabela 1

TABELA DIMENZIONIRANJA NN KABLOV

- [vaPravA RG Rip Rk Rp Rn VG | KLIMAT |VIAZZRAKA] R-AC
S [St tokokroga 0 1 2 3 4 5 7 3 9
= % Napetost
g3 |luw 400 400 400 400 400 400 400 400 400
3 ‘% Instal. moc
;i s |Pi (kW) 99 60,6 28,3 6 4 7 6 18 25
E E Faktor obrem. h , 0,525 0,65 0,7 0,8 0,8 1 1 1 1
S § Koniéna moé
£ [P (kW) 51,975 39,39 19,81 48 3,2 7 6 18 25
@ g cos j 0,95 0,95 0,95 0,95 0,95 0,95 0,95 0,95 0,95
£ )Konicni tok
e\, A 78,967843 | 59,8469 | 30,0982 | 7,29285 | 4,8619 | 10,6354 | 9,116057 | 27,3481706 | 37,9835703
Tip kabla NYY-J FG70R | FG70R [ FG70R | FG70R | FG70R | FG70 FG70 FG70
Presek mm* 70 25 16 6 6 6 4 10 10
3 Tip instalacije D B1 B1 B1 B1 B1 B1 B1 B1
S |Dopustni tok 2X 2X 2X 2X 2X 2X 2X 2X 2X
2 | 151 89 68 36 36 36 28 50 50
g fak. polaganja 0,9 0,9 0,9 0,9 0,9 0,9 0,9 0,9 0,9
S fak. temperature 1 1 1 1 1 1 1 1 1
'ué Zdrzni tok 2X 2X 2X 2X 2X 2X 2X 2X 2X
3 1, (A) 135,9 80,1 61,2 32,4 32,4 32,4 25,2 45 45
pogoj
1,>1, DA DA DA DA DA DA DA DA DA
Zascitna
naprava NV160 NV160 | NV160 [ NV160 [ NV160 | NV160 [ NV160 NV160 NV160
S Tok zasc. nap.
2 1, (A) 80 63 35 25 25 25 16 35 40
E 1. pogoj
§ Iy<l,<l, DA DA DA DA DA DA DA DA DA
£ faktor k 1,6 1,6 1,6 1,6 1,6 1,6 1,6 1,6 1,6
S |2 pogojl, (A) 2X 2X 2X 2X 2X 2X 2X 2X 2X
1,<1,451, 123,15938 | 72,5906 | 55,4625 | 29,3625 | 29,3625 | 29,3625 | 22,8375 | 40,78125 40,78125
pog. 1,<1,45.1,/k DA DA DA DA DA DA DA DA DA
-~ [|Energija
E £ |1¢ta%s) 19200 870 870 3300 9600 1500 9600 1500 1500
% 'E kS? 64802500 | 8265625 [ 3385600 [ 476100 | 476100 | 476100 | 211600 1322500 1322500
2 § Pogoj
= |k*S* >1t DA DA DA DA DA DA DA DA DA
5 Dolzina
S I (m) 45 5 70 55 50 45 35 35 45
S Dopustni padec
3 | 3 3 3 3 3 3 3 3 3
'§ Dejanski padec
s u (%) 0,3729074 | 0,08792 | 0,96729 | 0,49107 | 0,29762 | 0,58594 | 0,585938| 0,703125 | 1,25558036
= Pogoj
S U <uy DA DA DA DA DA DA DA DA DA
= r (W/km) 0,313 0,858 1,329 3,54 3,54 3,54 5,31 2,13 2,13
S X« Wikm) 0,077 0,086 | 0,089 0 0 0 0 0,094 0,094
g ru aliR (W) 0,026 0,34 0,34 0,34 0,34 0,34 0,34 0,34 0,34
2 KmW 0 0 0 0 0 0 0 0 0
2 |Okvarni tok
-% s (A) 2868,0445 | 334,021 | 265,547 | 215,074 | 222,437 | 230,322 | 218,6935| 277,401996 | 263,841411
£ Cas izklopa
% tix (S) 5 5 5 5 5 5 5 5 5
S Tok izklopa
3 I, (A) 240 55 55 90 175 100 175 100 100
E Pogoj
x ls > 1, DA DA DA DA DA DA DA DA DA
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